

Sold To:	Qingdao Nutrasumma	Shipped to:	Qingdao Nutrasumma
	Health Technology Co., Ltd.	_	Health Technology Co., Ltd.
	Room 207, Building 1 No.88, Kaifeng Road,		Room 207,Building 1 No.88, Kaifeng Road,
	Shibei District, Qingdao, China	_	Shibei District, Qingdao, China
		<u></u>	

Purchase Order #:		Date Shipped:	Shipped Via	Shipped Via Reference		Number#	
	QNS-25-007	21-0ct-25	Sea		P01416 5th run		
Item#	Description	Quantity Shipped		Lot #	Net Weight (kg) /Pallet	Gross Weight (kg) /Pallet	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 1 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 2 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 3 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 60 cases, 12 ct per 720 bottles Pallet Size: 122*1	case = 720 total	2509701	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 5 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg	
	Received in good condition by (print)  Received in good condition by (signature)			Total Net Weight Total Gross Weight Total Case/Pallet Total Piece		page 17	
	Received in good condition by (signature)			Bill of Lading/Air Waybill Number			
Received	Received Date:			COSC	0 bk#64320747	90	



Sold To:	Qingdao Nutrasumma	Shipped to:	Qingdao Nutrasumma
	Health Technology Co., Ltd.		Health Technology Co., Ltd.
	Room 207, Building 1 No.88, Kaifeng Road,		Room 207,Building 1 No.88, Kaifeng Road,
	Shibei District, Qingdao, China		Shibei District, Qingdao, China

Purchase Order #:		Date Shipped:	Shipped Via	Reference Number#			
QNS-25-007		21-0ct-25 Sea			P01416 5th run		
Item#	Description	Quantity Shipped		Lot #	Net Weight (kg) /Pallet	Gross Weight (kg) /Pallet	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 6 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 7 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 8 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 6 60 cases, 12 ct per 720 bottles Pallet Size: 122*1	case = 720 total	2509701	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 10 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg	
Received in good condition by (print)  Received in good condition by (signature)			Total Net Weight Total Gross Weight Total Case/Pallet Total Piece		page 17		
	g. 5-1- 5-1-1-1-3 <b>n</b> dy		Bill of Lading/Air Waybill Number				
Received	Received Date:			cosc	O bk#643207479	00	



Sold To:	Qingdao Nutrasumma	Shipped to:	Qingdao Nutrasumma
	Health Technology Co., Ltd.	_	Health Technology Co., Ltd.
	Room 207, Building 1 No.88, Kaifeng Road,		Room 207,Building 1 No.88, Kaifeng Road,
	Shibei District, Qingdao, China	_	Shibei District, Qingdao, China
		<u></u>	

Purchase Order #:		Date Shipped:	Shipped Via	Reference Number#			
	QNS-25-007	21-0ct-25	Sea		P01416 5th run		
Item#	Description	Quantity Shipped		Lot #	Net Weight (kg) /Pallet	Gross Weight (kg) /Pallet	
00193	Nutrasumma Whey Protein Isolate 464g	Pallet # 11 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 1 60 cases, 12 ct per 720 bottles Pallet Size: 122*1	case = 720 total	2509701	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 13 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 1 60 cases, 12 ct per 720 bottles Pallet Size: 122*1	case = 720 total	2509701	334.08kg	457kg	
00193	Nutrasumma Whey Protein Isolate 464g	Pallet # 15 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg	
Received in good condition by (print)  Received in good condition by (signature)			Total Net Weight Total Gross Weight Total Case/Pallet Total Piece		page 17		
	Accessed in good condition by (signature)			Bill of Lading/Air Waybill Number			
Received	Received Date:			coso	CO bk#643207479	90	



Sold To:	Qingdao Nutrasumma	Shipped to:	Qingdao Nutrasumma
	Health Technology Co., Ltd.		Health Technology Co., Ltd.
	Room 207, Building 1 No.88, Kaifeng Road,		Room 207, Building 1 No.88, Kaifeng Road,
	Shibei District, Qingdao, China		Shibei District, Qingdao, China
		<u> </u>	

Purchase Order #:		Date Shipped:	Shipped Via		Reference Number#		
	QNS-25-007	21-0ct-25	Sea		P01416 5th run		
Item#	Description	Quantity Shipped		Lot #	Net Weight (kg) /Pallet	Gross Weight (kg) /Pallet	
00193	Nutrasumma Whey Protein Isolate 464g	Pallet # 16 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 17 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 18 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 1 60 cases, 12 ct per 720 bottles Pallet Size: 122*1	case = 720 total	2509701	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 20 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg	
Received in good condition by (print)  Received in good condition by (signature)			Total Net Weight Total Gross Weight Total Case/Pallet Total Piece		page 17		
	g. 5-1- 5-1-1-1-3 <b>n</b> dy		Bill of Lading/Air Waybill Number				
Received	Received Date:			cosc	CO bk#643207479	00	



Sold To:	Qingdao Nutrasumma	Shipped to:	Qingdao Nutrasumma
	Health Technology Co., Ltd.		Health Technology Co., Ltd.
	Room 207, Building 1 No.88, Kaifeng Road,		Room 207,Building 1 No.88, Kaifeng Road,
	Shibei District, Qingdao, China		Shibei District, Qingdao, China
		<u> </u>	

Purchase Order #: Date		Date Shipped:	Shipped Via		Reference Number#		
QNS-25-007		21-0ct-25 Sea			P01416 5th run		
Item#	Description	Quantity Shipped		Lot #	Net Weight (kg) /Pallet	Gross Weight (kg) /Pallet	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 21 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 22 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 23 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 2 60 cases, 12 ct per 720 bottles Pallet Size: 122*1	case = 720 total	2509701	334.08kg	457kg	
00193	Nutrasumma Whey Protein Isolate 464g	Pallet # 25 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg	
	Received in good condition by (print)  Received in good condition by (signature)			Total Net Weight Total Gross Weight Total Case/Pallet Total Piece		page 17	
	Received in good condition by	(signature)	Bill of Lading/Air Waybill Number				
Received	Date:		}	COSC	O bk#643207479	90	



Sold To:	Qingdao Nutrasumma	Shipped to:	Qingdao Nutrasumma
	Health Technology Co., Ltd.	_	Health Technology Co., Ltd.
	Room 207, Building 1 No.88, Kaifeng Road,	_	Room 207, Building 1 No.88, Kaifeng Road,
	Shibei District, Qingdao, China	_	Shibei District, Qingdao, China

Purchase Order #: Date Shi		Date Shipped:	Shipped Via		Reference Number#		
	QNS-25-007	21-0ct-25 Sea			P01416 5th run		
Item#	Description	Quantity Shipped		Lot #	Net Weight (kg) /Pallet	Gross Weight (kg) /Pallet	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 26 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 2 60 cases, 12 ct per 720 bottles Pallet Size: 122*1	case = 720 total	2509701	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 28 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 2 60 cases, 12 ct per 720 bottles Pallet Size: 122*1	case = 720 total	2509701	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 30 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg	
	Received in good condition by (print)  Received in good condition by (signature)			Total Net Weight Total Gross Weight Total Case/Pallet Total Piece		page 17	
	Received in good condition by (signature)			Bill of Lading/Air Waybill Number			
Received	Received Date:			COSCO bk#6432074790			



Sold To:	Qingdao Nutrasumma	Shipped to:	Qingdao Nutrasumma
	Health Technology Co., Ltd.	_	Health Technology Co., Ltd.
	Room 207, Building 1 No.88, Kaifeng Road,		Room 207,Building 1 No.88, Kaifeng Road,
	Shibei District, Qingdao, China	_	Shibei District, Qingdao, China
		<u></u>	

Purchase Order #:		Date Shipped:	Shipped Via	Reference Number#		
	QNS-25-007	21-0ct-25	Sea	P01416 5th run		
Item#	Description	Quantity Shipped		Lot #	Net Weight (kg) /Pallet	Gross Weight (kg) /Pallet
00193	Nutrasumma Whey Protein Isolate 464g	Pallet # 31 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 32 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 33 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 3 60 cases, 12 ct per 720 bottles Pallet Size: 122*1	case = 720 total	2509701	334.08kg	457kg
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 35 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg
	Received in good condition by (print)  Received in good condition by (signature)			Total Net Weight Total Gross Weight Total Case/Pallet Total Piece		page 17
	neceived in good condition by (signature)			Bill of Lading/Air Waybill Number		
Received	Date:			COSC	CO bk#643207479	90



Sold To:	Qingdao Nutrasumma	Shipped to:	Qingdao Nutrasumma
	Health Technology Co., Ltd.	_	Health Technology Co., Ltd.
	Room 207, Building 1 No.88, Kaifeng Road,	_	Room 207,Building 1 No.88, Kaifeng Road,
	Shibei District, Qingdao, China	_	Shibei District, Qingdao, China
		_	

Purchase Order #: D		Date Shipped:	Shipped Via		Reference Number#		
	QNS-25-007	21-0ct-25	Sea	P01416 5th run			
Item#	Description	Quantity Shipped		Lot #	Net Weight (kg) /Pallet	Gross Weight (kg) /Pallet	
00193	Nutrasumma Whey Protein Isolate 464g	Pallet # 36 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 37 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 38 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 3 60 cases, 12 ct per 720 bottles Pallet Size: 122*1	case = 720 total	2509701	334.08kg	457kg	
00193	Nutrasumma Whey Protein Isolate 464g	Pallet # 40 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg	
	Received in good condition by (print)  Received in good condition by (signature)			Total Net Weight Total Gross Weight Total Case/Pallet Total Piece		page 17	
	received in good condition by (signature)			Bill of Lading/Air Waybill Number			
Received	Date:			cosc	CO bk#643207479	90	



Sold To:	Qingdao Nutrasumma	Shipped to:	Qingdao Nutrasumma
	Health Technology Co., Ltd.		Health Technology Co., Ltd.
	Room 207, Building 1 No.88, Kaifeng Road,	_	Room 207, Building 1 No.88, Kaifeng Road,
	Shibei District, Qingdao, China		Shibei District, Qingdao, China

Purchase Order #:		Date Shipped:	Shipped Via	Reference Number#		
	QNS-25-007	21-0ct-25	Sea	P01416 5th run		
Item#	Description	Quantity Shipped		Lot #	Net Weight (kg) /Pallet	Gross Weight (kg) /Pallet
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 41 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet #42 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet #43 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 44 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 45 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg
	Received in good condition by (print)  Received in good condition by (signature)			Total Net Weight Total Gross Weight Total Case/Pallet Total Piece		page 17
	Received in good condition by (signature)			Bill of Lading/Air Waybill Number		
Received	Date:			cosc	O bk#643207479	90



Sold To:	Qingdao Nutrasumma	Shipped to:	Qingdao Nutrasumma
	Health Technology Co., Ltd.		Health Technology Co., Ltd.
	Room 207, Building 1 No.88, Kaifeng Road,		Room 207,Building 1 No.88, Kaifeng Road,
	Shibei District, Qingdao, China		Shibei District, Qingdao, China

Purchase Order #: Da		Date Shipped:	Shipped Via		Reference Number#		
	QNS-25-007	21-0ct-25 Sea			P01416 5th run		
Item#	Description	Quantity Shipped		Lot #	Net Weight (kg) /Pallet	Gross Weight (kg) /Pallet	
00193	Nutrasumma Whey Protein Isolate 464g	Pallet # 46 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 47 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet #48 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 49 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 50 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg	
Received in good condition by (print)  Received in good condition by (signature)			Total Net Weight Total Gross Weight Total Case/Pallet Total Piece		page 17		
	Received in good condition by (signature)			Bill of Lading/Air Waybill Number			
Received	Received Date:			COSCO bk#6432074790			



Sold To:	Qingdao Nutrasumma	Shipped to:	Qingdao Nutrasumma
	Health Technology Co., Ltd.		Health Technology Co., Ltd.
	Room 207, Building 1 No.88, Kaifeng Road,		Room 207,Building 1 No.88, Kaifeng Road,
	Shibei District, Qingdao, China		Shibei District, Qingdao, China

Purchase Order #: Dat		Date Shipped:	Shipped Via		Reference Number#		
	QNS-25-007	21-0ct-25 Sea			P01416 5th run		
Item#	Description	Quantity Shipped		Lot #	Net Weight (kg) /Pallet	Gross Weight (kg) /Pallet	
00193	Nutrasumma Whey Protein Isolate 464g	Pallet # 51 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 52 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 53 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 5 60 cases, 12 ct per 720 bottles Pallet Size: 122*1	case = 720 total	2509701	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 55 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg	
Received in good condition by (print)  Received in good condition by (signature)			Total Net Weight Total Gross Weight Total Case/Pallet Total Piece		page 17		
	neceived in good condition by (signature)			Bill of Lading/Air Waybill Number			
Received Date:			ł	COSCO bk#6432074790			



Sold To:	Qingdao Nutrasumma	Shipped to:	Qingdao Nutrasumma
	Health Technology Co., Ltd.	_	Health Technology Co., Ltd.
	Room 207, Building 1 No.88, Kaifeng Road,		Room 207,Building 1 No.88, Kaifeng Road,
	Shibei District, Qingdao, China	_	Shibei District, Qingdao, China

Purchase Order #: Da		Date Shipped:	Shipped Via		Reference Number#		
	QNS-25-007	21-0ct-25 Sea			P01416 5th run		
Item#	Description	Quantity Shipped		Lot #	Net Weight (kg) /Pallet	Gross Weight (kg) /Pallet	
00193	Nutrasumma Whey Protein Isolate 464g	Pallet # 56 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 57 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 58 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 5 60 cases, 12 ct per 720 bottles Pallet Size: 122*1	case = 720 total	2509701	334.08kg	457kg	
00193	Nutrasumma Whey Protein Isolate 464g	Pallet # 60 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg	
	Received in good condition by (print)  Received in good condition by (signature)			Total Net Weight Total Gross Weight Total Case/Pallet Total Piece		page 17	
	received in good condition by (signature)			Bill of Lading/Air Waybill Number			
Received	Date:		-	cosc	CO bk#643207479	90	



Sold To:	Qingdao Nutrasumma	Shipped to:	Qingdao Nutrasumma
	Health Technology Co., Ltd.	_	Health Technology Co., Ltd.
	Room 207, Building 1 No.88, Kaifeng Road,		Room 207, Building 1 No.88, Kaifeng Road,
	Shibei District, Qingdao, China	_	Shibei District, Qingdao, China

	Purchase Order #:		Shipped Via		Reference Number#		
	QNS-25-007	21-Oct-25 Sea		P01416 5th run			
Item#	Description	Quantity Shipped:		Lot #	Net Weight (kg) /Pallet	Gross Weight (kg) /Pallet	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 61 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 62 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 63 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 64 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg	
00193	Nutrasumma Whey Protein Isolate 464g	Pallet # 65 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg	
Received in good condition by (print)			Total Net Weight Total Gross Weight Total Case/Pallet  Total Case/Pallet		page 17		
	Received in good condition by	(signature)	Total Piece Bill of Lading/Air Waybill Number				
Received Date:				COSCO bk#6432074790			



Sold To:	Qingdao Nutrasumma	Shipped to:	Qingdao Nutrasumma
	Health Technology Co., Ltd.	_	Health Technology Co., Ltd.
	Room 207, Building 1 No.88, Kaifeng Road,		Room 207,Building 1 No.88, Kaifeng Road,
	Shibei District, Qingdao, China		Shibei District, Qingdao, China

	Purchase Order #:	Date Shipped:	Shipped Via		Reference Number#		
	QNS-25-007	21-0ct-25 Sea		P01416 5th run			
Item#	Description	Quantity Shipped:		Lot #	Net Weight (kg) /Pallet	Gross Weight (kg) /Pallet	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 66 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 67 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 68 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 69 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg	
00193	Nutrasumma Whey Protein Isolate 464g	Pallet # 70 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg	
Received in good condition by (print)			Total Net Weight Total Gross Weight Total Case/Pallet see page 17		page 17		
	Received in good condition by (signature)			Total Piece Bill of Lading/Air Waybill Number			
Received Date:			COSCO bk#6432074790				



Sold To:	Qingdao Nutrasumma	Shipped to:	Qingdao Nutrasumma
	Health Technology Co., Ltd.	_	Health Technology Co., Ltd.
	Room 207, Building 1 No.88, Kaifeng Road,		Room 207,Building 1 No.88, Kaifeng Road,
	Shibei District, Qingdao, China	_	Shibei District, Qingdao, China
		<u></u>	

	Purchase Order #:	Date Shipped:	Shipped Via		Reference Nun	nber#
	QNS-25-007	21-Oct-25 Sea		P01416 5th run		
Item#	Description	Quantity Shipped:		Lot #	Net Weight (kg) /Pallet	Gross Weight (kg) /Pallet
00193	Nutrasumma Whey Protein Isolate 464g	Pallet # 71 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 72 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 73 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 74 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 75 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg
	Received in good condition by (print)  Received in good condition by (signature)			Total Net Weight Total Gross Weight Total Case/Pallet Total Piece		page 17
	Received in good condition by (signature)			Bill of Lading/Air Waybill Number		
Received Date:			-	COSCO bk#6432074790		



Sold To:	Qingdao Nutrasumma	Shipped to:	Qingdao Nutrasumma
	Health Technology Co., Ltd.		Health Technology Co., Ltd.
	Room 207,Building 1 No.88, Kaifeng Road,		Room 207, Building 1 No.88, Kaifeng Road,
	Shibei District, Qingdao, China		Shibei District, Qingdao, China

	Purchase Order #:	Date Shipped:	Shipped Via		Reference Nun	ıber#
	QNS-25-007	21-Oct-25 Sea		P01416 5th run		
Item#	Description	Quantity Shipped:		Lot #	Net Weight (kg) /Pallet	Gross Weight (kg) /Pallet
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 76 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 77 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 78 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 79</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 80 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2509701	334.08kg	457kg
	Received in good condition by (print)  Received in good condition by (signature)			Total Net Weight Total Gross Weight Total Case/Pallet Total Piece		page 17
	need in good condition by (organical e)			Bill of Lading/Air Waybill Number		
Received Date:				COSCO bk#6432074790		



Sold To:	Qingdao Nutrasumma	Shipped to:	Qingdao Nutrasumma
	Health Technology Co., Ltd.	_	Health Technology Co., Ltd.
	Room 207, Building 1 No.88, Kaifeng Road,		Room 207,Building 1 No.88, Kaifeng Road,
	Shibei District, Qingdao, China		Shibei District, Qingdao, China

Purchase Order #:		Date Shipped:	Shipped Via	Reference Number#			
QNS-25-007		21-0ct-25	Sea		PO1416 5th	run	
Item#	Description	Quantity Shipped		Lot #	Net Weight (kg) /Pallet	Gross Weight (kg) /Pallet	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Partial Pallet # 81 53 cases, 12 ct per case = 636 636 bottles total Pallet Size: 122*102*174cm		2509701	295.104kg	403.7kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 82 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2508590	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 83 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm		2508590	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Partial Pallet # 84  48 cases, 12 ct per case = 576  576 bottles total  Pallet Size: 122*102*154cm		2508590	267.264kg	365.6kg	
	Received in good condition by (print)			Total Net Weight		6.928kg	
		/	Total Gross Weight		38,2	43.3kg	
			Total Case/Pallet		5,021case/84plt		
	Received in good condition by	(signature)	Total Piece 60,252pc				
			Bill of Lading/Air Waybill Number				
Received	Received Date:			COSCO bk#6432074790			